Name:

Christmas Shopping

Solve the following shopping word problems:

I-Pad = $204.50 cell phone = $85.49

coat = $42.10 spa treatment = $54.67
electronic game = $39.74 gift certificate = $55.22

1. If Sadie wanted to buy three gift certificates and two electronic

games, how much money would she need?

2. Alistair purchases two electronic games and three coats. If he had
$220.00, how much money will he have left?

3. What is the total cost of two gift certificates, a cell phone, and two
electronic games?

4. If Daria buys two gift certificates, a I-Pad, and an electronic game,
how much change will she get back from $360.007?

5. Nathan purchases two coats and two spa treatments. How much
would it cost him if there was a 10% discount?

6. If Bradley wanted to buy two cell phone and three I-Pads, how
much would it cost him if there was a ten percent discount?

7. What is the total cost of two gift certificates if the items are on sale
for ten percent off the regular price?

8. What is the total cost of a coat and two gift certificates?

9. If Katja wanted to buy three coats, how much money would she
need?

10. Maddie purchases two coats. How much change will she get back

from $90.00?
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Name:

Christmas Shopping

Solve the following shopping word problems:

I-Pad = $204.50 cell phone = $85.49
coat = $42.10 spa treatment = $54.67
electronic game = $39.74 gift certificate = $55.22

1. $245.14 If Sadie wanted to buy three gift certificates and two electronic
games, how much money would she need?

2. $14.22 Alistair purchases two electronic games and three coats. If he had
$220.00, how much money will he have left?

3. $275.41 What is the total cost of two gift certificates, a cell phone, and two
electronic games?

4. $5.32 If Daria buys two gift certificates, a I-Pad, and an electronic game,
how much change will she get back from $360.007?

5. $174.19 Nathan purchases two coats and two spa treatments. How much
would it cost him if there was a 10% discount?

6. $706.03 If Bradley wanted to buy two cell phone and three I-Pads, how
much would it cost him if there was a ten percent discount?

7. $99.40 What is the total cost of two gift certificates if the items are on sale
for ten percent off the regular price?

8. $152.54 What is the total cost of a coat and two gift certificates?

9. $126.30 If Katja wanted to buy three coats, how much money would she
need?

10. $5.80 Maddie purchases two coats. How much change will she get back
from $90.007?
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